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2.

A) 2
D) 2

Bir malin fiyatinda indirim yapildiktan
sonra bir giinde satilan mal miktar1
%25 artarken satislardan elde edilen
gelir degigsmedigine gore, ylizde kag
indirim yapilmistir?

If the amount of a good sold increases
by 25%, but the income remains the
same after a price discount on that
good, what is the percentage of the
discount?
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5. a,b,c pozitif tam sayilar ve
2a=b
5c=4b
olduguna gore, asagidaki
siralamalardan hangisi dogrudur?

If a, b, c are positive integers and
2a=b

5c=4b

Which of the following sequences is
correct?

Lﬁiﬁ&g;y@md\mia1 b, ¢ e IS OIS 1A

?@M 2\,331:\3\ Clatadl (e

A) a<b<c B) a<c<b C) c<a<b
D) c<b<a E) b<c<a

E_E=1}
6. x ¥ = x =7
x—3y=0

A6 B)}3 C)-1 D)1 E)3

7 \/abc,abc + \/1111 + 20 = ,)
a,bcabc 11

A)110 B)100 C)54 D)33 E)21

8. A={ab,c,d,ef} kiimesinin en az 4
elemanl kag tane alt kiimesi vardir?

How many subsets with at least 4
elements does set A={a, b, c, d, e, f}
have?

g o J Y el g siathie e sene oS
¢ e i e sandl odg] alic

A4 B)7 C15 D)0 E)22

V25436 —
" V16,949 '

6 6,1 V6,1
A Bl O P B

a

b _3
10. ;: -3 = (Z) =?

A)27 B)9 C1 D)9 E)-27
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11.4x3 —3x2 +5+x.P(x) =3x3—x%2+5

= P(x) =?
A) 3x3+x?+5 B)-x>+5  C) x>-x+5
D) -x?+2x E) 3x3-5

2018!-2017!
20170

12. 2z = 2017 = ?

A)z  B)z+l C)z.2017! D)z! E)z:2018!

13.x,y E R,
(x+y—15)2+(x—y—3)2=0
=>£=?
y
1 1 2 3
A= B)= C = D)1 E) =
)3 )2 )3 ) )2

14.(10101010), = (2a2)s = a =?

A3 B)5 C)4 DB E)

j2017_;2016
2 - =9
15.7=-1 = ;2019_;2016 '

A)3i B)2i C)-3i D)2 E)i

5*=9 —9
16. 97 = 125}=>x.y—.

A)3 B)5 C)7 D)9 E)11
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VXY _ 9)
a I
17. 22 = 3 5 = 222 =7
b a.b.c
Nox

A)6 B)8 C)12 D)24 E)48

18.P(x) = 3x3 —2x?+x+3

polinomunun (x — 2) ile boliimiinden

kalan nedir?

What is the remainder after the
division of P(x)= 3x3-2x?+x+3

polinom to x-2?

23 gaal) daatie Al (he SLI g8 Lo

£x-2dP(X)= 3x3-2x%+x+3

A3 B)15 C)7 D)5

E) 21

Ala

19. Sekildeki tarali blge A X B nin

grafigidir.

The shaded area is the graphic of
AxB

AXB JSall s il 4 Allkdl) daliaal)

Buna gore A X B kiimesi
asagidakilerden hangisidir?

Then, which of the following is the
AXB set?

¢ b LaoAXBie sane Lo Nixie

A{xy): x,yER, [x—1|<2, |[y+1|<1}
B){(x,y):
C){(x,y):
D) {(xy):
By {(xy):

XLYyER, |[x+1|<2, |y—1| <1}
XLYER, [x+1]<2, |y+1]<1}
LYER, [x—1]<2 |ly—-1|<1}
Xx,yER, [x—1|<2, |y+1| <1}

20.a.b >0, a2.b<0=>W:
B)-a C)-1 D)2 E)b
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21. f(abc) = a®) =

£(123) + £(231) + f(321) =?

A)17 B)I8 C)19 D)20 E)21

22. Bire-bir orten f : R — R fonksiyonu
i¢in
(fofMH@x-3)=5

ise x=?

Iff : R— R is bijection and
(fof -1)(4x-3)=5,
then x="?

ALED DA o fr R — RS
= xod (fofHMAx—-3)=5
C)-1 D)1

A3 B)2 E)-2

23. A(1,2) noktasindan gegen ve egim
acis1 120° olan dogrunun denklemi
asagidakilerden hangisidir?

Which of the following is the equation
of the line which passes through A(1,
2) point and has an inclination of
120°?

Al e ey Gl aall dlaleal) o M) e 6
AL, 2) daallds 14l 51200

A)y =—/3x ++3

B) y = —V3x + V3+2
C)y =+v3x—+3

D) y = V3x —/3+2
E)y =—V3x—+3-2

24. Asagida verilen denklemlerden
hangileri reel diizlemde bir cember
gosterir?

Which of the following equations
represent a circle on real plane?

sle 5 () N C¥ el e
¢l 5 sl

l. X2+y?-3x+5y+7=0

1. X2+y?+2x-6y-7=0

. 2x2+2y%-4x-3y+7=0
IV.  x%+y2-3xy+5x+5y-7=0
V. X2+2y2-3x+5y+7=0

A)lvell
D) Il ve IV

B)lvelll C)llvelll
E)IVveV
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25. f(x) = [ (x* —2x + 1) dx, 27.
f@ =5 =7£(0)=?

A)2 B)l1 CO0 D)-1 E)-2 1 y=iix)

4/ 4 X

Yukarida grafigi verilen f fonksiyonu i¢in
asagidakilerden hangisi yanligtir?

Which of the following is wrong about the f

function given in the graphic above?
26.Y D R
! A2l Ll pa L Lae JSE i sl 3
o le | i
l fole | lia sall

r

1 : A A) (fof)() = 1 B) (fof)(0) > 0
A K C) f(-9f(2) <0  D)f(-1f(A)<0
E) (fof)(—3) =1

Yukaridaki ABCD paralelkenarinda; [CK] :

C agisinin agiortayi, 5- |AK| =3 | KB| ve
C(ABCD)= 78 birimdir. Buna gore |DC| kag
birimdir?

According to the ABCD parallelogram;
[CK] is bisector of Cangle, 5:|AK| =3-|KB
and G(ABCD)= 78 units. Then how many

units is |DC|?
acb=a—-0>b
< a
[CK] &) :ABCD g3a¥! (531 sial sl 28. axb=1 :=90[(6%3)a2]=?
aill il ) «C s 510 g Uail) Couaie aAb=ab

C(ABCD)=78 ; 5-|AK| = 3-|KB|
¢|DC| 1ad o Lo diaied

A3 B4 C)5 D)6 E)7

A)20 B)24 C)25 D)28 E)30
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x?-x—6 _

29. lim ?

x—-3 Xx—3 37T
31. [x* sin 2xdx =?
A: B0 01 D5 B 2

A)O B)1 C)2 D)-1 E)-2

30.A=[; ‘42]=>A1:'>
32.f(x) = e¥cosx = f (%)=
ol eslE e 0E o
ol oi[ D) ¢ E) 5
955 1
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33. 35. Yandakenar D C
uzunlugu 4 cm
olan ABCD
karesi F
goriilmektedir.
@ [CE] dogru
Yarigap1 r olan daire ile bir kenar pargast, O
uzunlugu a olan karenin alan1 birbirine merkezli
esittir. Buna gore dairenin ¢evresinin
karenin ¢evresine orani nedir?

A ) B

yarim ¢embere F noktasinda tegettir.
Taral1 bolgenin alan1 kag cm? dir?

The area of the circle with radius r is The side length of the ABCD square
equal to the area of square with one on the right is 4 cm. The line segment
side length of a. Then, what is the [CE] is tangent at F point to

ti jrcle’s ci t , : .
rauo oj: cirete 3 circumf irence ? hemicycle with O center. What is the
square's czrcumference. . . 2

area of the shaded region in cm=?

el Aaliad 4 slose 1 dall 13 5 il Aalise . ) .

e ) 50l Jams s b Leb 3 dxln Jsha (53 4 sala Jsk ABCD e iosall B

€yl Fonilly F ki) sie (ulas s [CE] ol &)

dalie 2 o oS O S all i35 plall Carail

¢ alilad) dslaial)

I e T Vr

Al B)z ©) 2 D)s E) 3 A)9-27 B)10-2x C)11-4xn
D)12-2z E)13-2x

34.log:8 =x = logy24 =7?

A)x B)3x CZ DT E)
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36. 37.
] E |
; . i B
- :3-0'-.-.--_‘__,.-—
C"l—'.-.j_v____60
A F B X 0D
120/
Yukaridaki ABCD dikdértgeninde < F E

|AD| =|DE| =3cm ve |AF|=3|FB|

ise ECBF yamugunun alan1 kag cm?
dir?

According to the ABCD rectangle
above, if |AD| =|DE| =3cm and
|AF| =3:|FB|, then what is the
shaded area of ECBF trapezoid in
cm’ ?

S 13) ¢ eV 3 ABCD Jabiosall i
«is 5 |AD| =|DE| =3cm

JSA Aalie oo Lo ladiad ‘|AF| :3.||:|3|
$2au L ECBF  <a_aiall 4il Jlkaal)

11 21

D)11 E)15

Yukaridaki sekilde [BA // [EF olduguna gore
m(CDE)= x kag derecedir?

If [BA // [EF, then m(CDE)= x?

¢ M(CDE)= x iaisd ([BA // [EF <ilS 13

A)60° B)65° C)70° D)80° E)90°

38. A(1,2) noktasindan gecen ve egim
acis1 120° olan dogrunun denklemi
asagidakilerden hangisidir?

Which of the following is the equation
of the line which passes through A(1,
2) point and has an inclination of

120°?
aladill e ey A Lall daladl) & L
1200 Jullds 04l 5 A(Y, 2)
A)y=—/3x++3
B) y = —V3x +V/3+2
C)y=v3x—v3

D)y = v3x —/3+2
E)y = —V/3x—+/3-2



Dell
Rectangle

Dell
Rectangle

Dell
Rectangle


INONU UNIVERSITESI

MATEMATIK-MATHEMATICS

YOS 2017

log, 64 | logs 125 —9
"logs81  log,16
2 2 6 5
A; B O DS B3
40.
y=x+2
>x
9 8 15
A3 B;  OF
7 13
D)’ F) L2

10
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